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ZOOLOGY
( Honours Generic/Regular )
Paper : ZOO-HG-4016/Z00-RC-4016
ol Gen\etws and Evolutionary Biology)

,‘

.\‘9' Vd ”- Full Marks : 60

TII‘HC : Three hours

Answer either in English or in Assamese.

1. Answer the following : (any seven)
1x7=7

et Al epred Bes Wl ¢ (Riceizar abrq)
() What is epistasis ?

«forefeg 52
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(i) What is allelomorph ? :
i Fe |

(i) What is chromosomal theory of
inheritance ? . !
SNBSS RCR R R o i ok
(iv) What is co-dominance ?
TR-Aeqel e
7 Loiey . .At what stage does crossing over occur
,éév‘o A .Jm meiosis ?
/1 .
El Rorema i wire o Rt =2
\&
\i’\f X %hat is sympatric speciation ?
E D
— el cvifkema /e
(vit) What is mass extinction ?
TR Regf e

(vii) Who postulated the theory of ‘Natural
selection’ ?

Ao RIS T (i SrioipiRfRe 2

(ix) What is bioclast ?

AT 2

3 (Sem-4/CBCS) 200 HG/RC/G 2

(x) The scientific name of Cro—Magnon Man
15 400" ;

Tl TR {7 \

2. Answer any four of the follo.wiglg :

izt 4519 Ses fal ¢

Write the difference between /

A1 forat ¢ ,

(i) Genotpye and Phenotyp&
el s et 3

(i) Recessive lethals and Dominant lethals

TSR] GeT ©iF 2SNl Ao

X-linked gene and Y-linked gene
X-7zeral fom o Y- o

(iii)

()

Mendelian 1nher1tance and Cytoplasmic
inheritance :

e XS TE T SR e

(v) Complete linkage and Incomplete
linkage

Fsjef STRET2] ST SPTRe TeErarel
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(i) Interference and Coincidence

T WE F

(vi) Somatic mutation and Germinal
mutation '
RSN Berifa6n s S BerfRsd

(viii) Continuous variation and
Discontinuous variation

SRz eihRel o Rt 2

Answer any three of the following :
5x3=15

R e Rz e S B

) / :;?_Iat is extra-chromosomal inheritance ?
E{.‘-}{e about the Important features of
achrornosomal inheritance.

RETTET 5191 o 7 <Ry Ao
T SR R

Write about the incomplete linkage of

Drosophilla melanogaster with suitable
diagram. 1+4=5

S
ﬁ:iigi:ﬁﬁ@siw§%im%<EWFﬂﬁﬂ5ﬁ%ﬂa

3 (Sem-4/CBCS) zog HG/RC/G 4

(i) What is speciation ? Write a note on
the limitations of biological speciation.
1+4=5

seifeq SeRA e & @ (ke deifes
e ST @siae afo il F

(iv) Deséribe the modern theory of
evolution.

GRE Beolfes Sy ToamE [REw e 41

(v) Write a short note on human evolution.

ﬂﬁ?ﬁﬁﬁﬁ%ﬁﬁﬁ\Gﬂﬁﬁuﬂﬁﬁﬂ‘@mﬂfaﬂﬂ

__ (vi) What is pleiotropic gene ? Describe the
@“ Coliegs . phenomenon of pleiotropy with suitable
S

xample. 1+4=5

Q
é%( "G & 50 Toige Orizges RN
f% "Gl AAREoR qef 4 |

Neuy, 5 vt / What is multiple allele ? Write the main
e characteristics of multiple alleles.

2+3=5
it < <2 e e [ 3@ Gl AR
qfer@ 325 ReTR Frl
(viii) Write the characteristics of modern
horse. 8c
wigRe (J[E @EERR
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4. Answer any three of the following :
10x3=30

ol [Rrizal folbre ©ea ot

() Describe the role of extinction on
evolution.

TR Kejfed sier [a i@ w1

(ii) -What is macroevolution ? Dcscfibe the
principles and mechanisms of macro-

evolution. 2+4+4=10
771 R /e 2ot R TS i wifemts
¢ <5 |
L ol aWh\at is genetic variation ? Describe the
Ly Neg
/’; & o / ‘?‘3 and sources of genetic variation.
‘rg ol )?—‘ 2+4+4=10
3 Haglb bl 7

q%??@ﬂwmmw@@a

T ¥

{w) What is fossil ? What are different types
of fossil ? Write a note on formation of

‘fossil. 143%6=10

G 2 ffen e S & o S
S0 @7® «f6 (G el |
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(v) What is mutation ? What are Flifferent
. types of mutation ? Describe the
| j consequences and significance of
| mutation in animal life. 1+2+(3+4)=10

TesiRaen Jferce [ ga ¢ R eoiea Stk
g & 2 SRR @vTe SARTOTT 2o
O FPTIR I 4|

(vi) Write about the principles of genetic
mapping.

TR Ao WW%&N%W

(vi) What is linkage ? Describe the -
mechanism of linkage. Write about
the significance of linkage. 2+5+3=10

Iezraol 1 2 =TI el 9901 <51 | erao

umerate Darwin’s theory on
Jlution. Write the difference between
arckism and Darwinism. 5+5=10

S A TREERA WeAW ST 9
Wmmwmwml
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